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1.1f | toss a coin 3 times and get head and get
head each time, should | expect a tail to have a
higher chance in the 4th toss? Give a reason in

support of your answer.

o Watch Video Solution

2. A bag contains slips numbered from 1 to
100. If Fatima chooses a slip at random from
the bag, it will either be an odd number or an

even number. Since, this situation has only two


https://dl.doubtnut.com/l/_1K7nNwlFgvhz
https://dl.doubtnut.com/l/_HpaUzgET7a32

possible outcomes, so the probability of each

1
is E.Justify

° Watch Video Solution

3. If a family having three children, there may

be no girl, one girl, two girls or three girls. So,
1

the probability of each is —. Is this correct?

4

Justify your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_HpaUzgET7a32
https://dl.doubtnut.com/l/_RVE2hnsgtOxW

4. A game consists of spining an arrow which
comes to rest pointing at one of regions (1,2
or 3) (see figure). Are the outcomes 1,2 and 3

equally likely to occur? Give reason

o Watch Video Solution



https://dl.doubtnut.com/l/_2kaIt44Wh1Al

Very Short Answer Questions

1. Two coins are tossed simultaneously. Find

the probability of getting exactly one head.

o Watch Video Solution

2. From a well shuffled pack of cards, a card is
drawn at random. Find the probability of

getting a black queen.

o Watch Video Solution



https://dl.doubtnut.com/l/_UGqfuix2OW9q
https://dl.doubtnut.com/l/_P68r8dUXaiRe

3. If P(E) =0.05 P(E) = 0.05, what is the

probability of not E?

° Watch Video Solution

4. What is the probability of getting no head

when two coins are tossed simultaneously?

o View Text Solution



https://dl.doubtnut.com/l/_P1yKEZcvPNbG
https://dl.doubtnut.com/l/_T8gl2D2UkBk0

5. In a single throw a pair of dice, the

probability of getting the sum a perfect

s — (b) == () = (d) 2
Square|51—8 %CE 5

o Watch Video Solution

6. Someone is asked to take number from 1 to

100. The probablity that it is a prime, is

° Watch Video Solution



https://dl.doubtnut.com/l/_nFwzQILetuSH
https://dl.doubtnut.com/l/_mfTw2ARImETZ

7. Cards marked with numbers 3,4, 5. ..... 50
are placed in a box and mixed throughly. A
card is drawn at random from the box, find the
probability that the selected card bears a

perfect square number.

o Watch Video Solution

8. A card is drawn at random from a well

shuffled pack of 52 playing cards. Find


https://dl.doubtnut.com/l/_dB4GU7SHe9mv
https://dl.doubtnut.com/l/_4sItS0Wh23Sv

probability of getting neither a red card nor a

queen.

° Watch Video Solution

9. 20 tickets, on which numbers 1 to 20 are
written, are mixed throughly and then a ticket
iIs drawn at random out of them. Find the
probability that the number on the drawn

ticket is a multiple of 3 or 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_4sItS0Wh23Sv
https://dl.doubtnut.com/l/_phdG53Q36uAR

Short Answer Questions |

1. Two dice are thrown at the same time and
the product of numbers appearing on them is
noted. Find the probability that the product is

a prime number.

o Watch Video Solution

2. Find the probability that a number selected

from the number 1 to 25 is not a prime


https://dl.doubtnut.com/l/_N7JtLY1KljAq
https://dl.doubtnut.com/l/_Fg9i9rqUebmj

number when each of the given numbers is

equally likely to be selected.

° Watch Video Solution

3.One card is drawn at random from a pack of
52 cards. Find the probability that the card

drawn is an ace and black.

° Watch Video Solution



https://dl.doubtnut.com/l/_Fg9i9rqUebmj
https://dl.doubtnut.com/l/_nE3QN9f5auTX

4. A card is drawn at random from a pack of 52
playing cards. Find the probability that the

card drawn in neither an ace nor a king.

o Watch Video Solution

5. A bag contains lemon flavoured candies
only. Malini takes out one candy without
looking into the bag. What is the probability
that she takes out (i) an orange flavoured

candy? (ii) a lemon flavoured candy?

| & |


https://dl.doubtnut.com/l/_9CC4Zic9u8Fb
https://dl.doubtnut.com/l/_IAlZbpSCyFgS

| ¥ Watch Video Solution |

6. 12 defective pens are accidentally mixed with
132 good ones. It is not possible to just look at
a pen and tell whether or not it is defective.
One pen is taken out at random from this lot.
Determine the probability that the pen taken

out is a goo

o Watch Video Solution



https://dl.doubtnut.com/l/_IAlZbpSCyFgS
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7. Two players, Sangeeta and Reshma, play a
tennis match. It is known that the probability
of Sangeeta winning the match is 0.62. What is

the probability of Reshma winning the match?

o Watch Video Solution

8. A child has a die whose six faces show the
letters as given below: The die is thrown once.

What is the probability of getting (i) A? (ii) D?

o Watch Video Solution



https://dl.doubtnut.com/l/_8zQyTNzX9qe1
https://dl.doubtnut.com/l/_HCurULAcqR9d

9. A card is drawn at random from a well
shuffled pack of 52 cards. Find the probability
that the card drawn is neither a red card nor a

queen.

o Watch Video Solution

10. Out of 400 bulbs in a box, 15 bulbs are
defective. One bulb is taken out at random
from the box. Find the probability that the

drawn bulb is not defective.


https://dl.doubtnut.com/l/_HCurULAcqR9d
https://dl.doubtnut.com/l/_glpaXXXpX6Ai
https://dl.doubtnut.com/l/_RhJeCizqbu5I

° View Text Solution

11. Two coins are tossed simultaneously. What

is the probability of getting at least one tail ?

o Watch Video Solution

Short Answer Questions li

1. Harpreet tosses two different coins

simultaneously (say, one is of Re 1 and other of


https://dl.doubtnut.com/l/_RhJeCizqbu5I
https://dl.doubtnut.com/l/_8VMJW2Za53lw
https://dl.doubtnut.com/l/_l7jOjbN2GczJ

Rs 2). What is the probability that he gets at

least one head?

° Watch Video Solution

2. A game consists of tossing a one-rupee coin
three times and noting its outcome each time.
Hanif wins if all the tosses give the same
result, i.e., three heads or three tails and loses
otherwise. Calculate the probability that Hanif

will lose the game.

° Watch Video Solution



https://dl.doubtnut.com/l/_l7jOjbN2GczJ
https://dl.doubtnut.com/l/_rc7j3UTap4US

3. Three unbiased coins are tossed together.
Find the probability of getting:

(i) all heads.

(i) exactly two heads.

(iii) exactly one head.

(iv) at least two heads.

(v) at least two tails

° Watch Video Solution



https://dl.doubtnut.com/l/_rc7j3UTap4US
https://dl.doubtnut.com/l/_EkkDesfTNouo

4. A die is thrown once. Find the probability of
getting (i) a prime number; (ii) a number lying

between 2 and 6; (iii) an odd number.

o Watch Video Solution

5. Suppose we throw a die once, (i) What is the
probability of getting a number greater than
4? (ii) What is the probability of getting a

number less than or equal to 4 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_xYMGE83GPIZo
https://dl.doubtnut.com/l/_iQdH7W4x4r8F

6. One card is drawn from a well-shuffled deck
of 52 cards. Calculate the probability that the

card will (i) be an ace. (ii) not be an ace.

o Watch Video Solution

7. Five cardsthe ten, jack, queen, king and ace
of diamonds, are well shuffled with their face
downwards. One card is then picked up at

random. (i) What is the probability that the


https://dl.doubtnut.com/l/_iQdH7W4x4r8F
https://dl.doubtnut.com/l/_xWAC6AmwvyBF
https://dl.doubtnut.com/l/_bqZvSi38cwwE

card is the queen? (ii) If the queen is drawn

and put aside, what

° Watch Video Solution

8. A box contains 5 red marbles, 8 white
marbles and 4 green marbles. One marble is
taken out of the box at random .

What is the probability that the marble taken

out will be (i) red ? (ii) white ? (iii) not green ?

° Watch Video Solution



https://dl.doubtnut.com/l/_bqZvSi38cwwE
https://dl.doubtnut.com/l/_8yYw309FOm17
https://dl.doubtnut.com/l/_6Q11WTqAUPuF

9. A bag contains 5 black, 7 red and 3 white
balls. A ball is drawn from the bag at random.
Find the probability that the ball drawn is :

(i) red (ii) black or white (iii) not black.

o Watch Video Solution

10. A bag contains 5 red, 8 white and 7 black
balls. A ball is drawn at random from the bag.
Find the probability that the drawn ball is (i)
red or white (ii) not black (iii) neither white

nor black.


https://dl.doubtnut.com/l/_6Q11WTqAUPuF
https://dl.doubtnut.com/l/_8VYLhUYMBKlZ

° Watch Video Solution

11. 1t is given that in a group of 3 students, the
probability of 2 students not having the same
birthday is 0.992. What is the probability that

the 2 students have the same birthday?

o Watch Video Solution

12. 1000 tickets of a lottery were sold and

there are 5 prizes on these tickets. If Saket has


https://dl.doubtnut.com/l/_8VYLhUYMBKlZ
https://dl.doubtnut.com/l/_vBdkBfkqZ9pm
https://dl.doubtnut.com/l/_6IiIIAWPyu62

purchased one lottery ticket, what is the

probability of winning a prize?

° Watch Video Solution

13.1n a single throw of a pair of different dice,
what is the probability of getting
(i) a prime number on each dice

(ii)a total of 9 or 117

o Watch Video Solution



https://dl.doubtnut.com/l/_6IiIIAWPyu62
https://dl.doubtnut.com/l/_VFC8qPmESVKX

14. A game consists of tossing a one-rupee
coin three times and noting its outcome each
time. Hanif wins if all the tosses give the same
result, i.e., three heads or three tails and loses
otherwise. Calculate the probability that Hanif

will lose the game.

o Watch Video Solution

Long Answer Questions


https://dl.doubtnut.com/l/_PXDJ4GVh5O67

1. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting:

(i) a king of red colour.

(ii) a face card.

(iii) a red face card.

(iv) the jack of hearts.

(v) a spade.

(vi) the queen of diamonds.

o Watch Video Solution



https://dl.doubtnut.com/l/_XkMlwD8dPpKS

2. One card is drawn from a pack of 52 cards,
each of the 52 cards being equally likely to be
drawn. Find the probability that the card
drawn is:

(i) an ace.

(ii) red.

(iii) either red or king.

(iv) red and a king.

(v) a face card.

(vi) a red face card.

(vii) 2" of spades.

(viii) '"10' of a black suit.


https://dl.doubtnut.com/l/_4LtktKUvcBOO

o Watch Video Solution
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(iv ) 9 O BICT I&AT B BT ?

o Watch Video Solution

4. Two dice, one blue and one grey, are thrown
at the same time. Write down all the possible

outcomes. What is the probability that the


https://dl.doubtnut.com/l/_ecEDnltIIFbO
https://dl.doubtnut.com/l/_1e2GP9cTmkoX

sum of the two numbers appearing on the top
of the dice is (ii) 137 (iii) less than or equal to

127

o Watch Video Solution

5. A bag contains cards numbered from 1 to
49. A card is drawn from the bag at random,
after mixing the card thoroughly. Find the
probability that the number on the drawn

card is (i) an odd number (ii) a multiple of 5


https://dl.doubtnut.com/l/_1e2GP9cTmkoX
https://dl.doubtnut.com/l/_z1ydIQUHQ5k4

(i) a perfect square (iv) an even prime

number.

° Watch Video Solution

6. All the black face cards are removed from a
pack of 52 playing cards.

The remaining cards are well shuffled and then
a card is drawn at random. Find the
probability of getting a (i) face card, (ii) red

card, (iii) black card, (iv) king.

o Watch Video Solution



https://dl.doubtnut.com/l/_z1ydIQUHQ5k4
https://dl.doubtnut.com/l/_Vs3QFm9FICF4

7. Cards numbered from 11 to 60 are kept in a
box. If a card is drawn at random from the box,
find the probability that the number on the
drawn cards is (i) an odd number (ii) a perfect
square number (iii) divisible by 5. (iv) a prime

number less than 20.

o Watch Video Solution

8. A number x is selected at random from the

numbers 1, 2, 3 and 4. Another number vy is


https://dl.doubtnut.com/l/_Vs3QFm9FICF4
https://dl.doubtnut.com/l/_vaAzoYEbDinT
https://dl.doubtnut.com/l/_oheTNtqP2Vx0

selected at random from the numbers 1, 4, 9
and 16. Find the probability that product of x

and y is less than 16.

o Watch Video Solution

9.In Fig., shown a disc on which a player spins
. . a .

an arrow twice. The function 3 is formed,

where 'a' is the number of sector on which

arrow stops on the first spin and 'b' is the

number of the sector in which the arrow stops

on second spin. On each spin, each sector has


https://dl.doubtnut.com/l/_oheTNtqP2Vx0
https://dl.doubtnut.com/l/_nt2AkZw9wm08

equal chance of selection by the arrow. Find

the probability that the fraction % > 1.

H:/

° Watch Video Solution

Higher Order Thinking Skills


https://dl.doubtnut.com/l/_nt2AkZw9wm08
https://dl.doubtnut.com/l/_MxhLxCOdvEZo

1. A die is thrown twice. What is the probability
that (i) 5 will not come up either time? (ii) 5
will come up at least once? Hint [Throwing a
die twice and throwing two dice
simultaneously are same experiment] treated

as the

o Watch Video Solution

2. The probability of getting 53 Fridays in a

leap year is :

o Watch Video Solution



https://dl.doubtnut.com/l/_MxhLxCOdvEZo
https://dl.doubtnut.com/l/_al9S8d8sScTi

3. A bag contains 5 red balls and some blue
balls. If the probability of drawing a blue ball
from the bag is thrice that of a red ball, find

the number of blue balls in the bag.

o Watch Video Solution

4. Apoorv throws two dice once and computes
the product of the numbers appearing on the

dice. Peehu throws one side one die and


https://dl.doubtnut.com/l/_al9S8d8sScTi
https://dl.doubtnut.com/l/_RrBZNSiWxQNS
https://dl.doubtnut.com/l/_23f5L9rxVhPH

squares the number that appears on it. Who
has the better chance of getting the number

of 367 Why?

o Watch Video Solution

Proficiency Exercise Very Short Answer Questions

1. A card is accidently dropped from a pack of
52 cards. What is the probability of it being a

card of diamond?

o Watch Video Solution



https://dl.doubtnut.com/l/_23f5L9rxVhPH
https://dl.doubtnut.com/l/_WqldRqthvxzi

2. A card is drawn from a well shuffled pack of
52 playing cards. The event E is that the card
drawn is not a face card. The number of

outcomes favourable to the event E is

o Watch Video Solution

3. In a single throw of a die, what is the

probability of getting a prime number?

o Watch Video Solution



https://dl.doubtnut.com/l/_WqldRqthvxzi
https://dl.doubtnut.com/l/_eT9GfNxplCtJ
https://dl.doubtnut.com/l/_Q2Fakcm6kvbN

4. An integer is chosen at random from the
numbers ranging from 1 to 50. What is the
probability that the integer chosen is a

multiple of 2 or 3 or 10?

o Watch Video Solution

5. The probability of getting a bad egg in a lot
of 400 is 0.035. The number of bad eggs in the

lot is

o Watch Video Solution



https://dl.doubtnut.com/l/_Q2Fakcm6kvbN
https://dl.doubtnut.com/l/_AjM1Y9feI4Zr
https://dl.doubtnut.com/l/_tU9s7UJDSQo5

6. A number z is chosen at random from the
numbers -3, —2, —1,0,1, 2, 3 the

5)
probability that || < 2 is — (b) (c) (d)
1

7

o Watch Video Solution

7. A bag contains 3 black marbles, 5 red

marbles and 6 white marbles. If a marble is


https://dl.doubtnut.com/l/_tU9s7UJDSQo5
https://dl.doubtnut.com/l/_bzWT3LXqHtTp
https://dl.doubtnut.com/l/_edl1Fxo65X41

picked at random, then what is the probability

that it is not a white marble?

° Watch Video Solution

8. Avni and Arushi draws one ball each from a
bag containing 2 red and 3 green balls. Avni
draws a red ball first which is not put back.
What is the probability that Arushi who draws

next also gets a red ball?

° Watch Video Solution



https://dl.doubtnut.com/l/_edl1Fxo65X41
https://dl.doubtnut.com/l/_NX7gl449L4HR
https://dl.doubtnut.com/l/_ygvQzCly5fYo

9.Adigit is chosen at random from the digits 1
to 9. What is the probability that the digit is

even?

° Watch Video Solution

10. A letter of English alphabet is chosen at
random. What is the probability that it is a

letter of the word '"MATHEMATICS'?

° Watch Video Solution



https://dl.doubtnut.com/l/_ygvQzCly5fYo
https://dl.doubtnut.com/l/_nJARukyc1OBD

Proficiency Exercise Short Answer Questions |

State True Or False And Justify Your Answer

1. The probability of getting a prime number

2
when a die is thrown once is §

o Watch Video Solution

2. In any situation that has only two possible
outcomes, each out come will have probability

1
7 Find whether it is true or false.

o Watch Video Solution



https://dl.doubtnut.com/l/_NUKNb5ulYhZn
https://dl.doubtnut.com/l/_iWJmv5p2fdSh

3. A student says that if you throw a die, it will
show up 1 or not 1. Therefore, the probability
of getting 1 and theprobability of getting not 1
each is equal to —. Is this correct? Give

2

reasons.

o Watch Video Solution

4. A coin is tossed twice and the outcome is

noted everytime. The head must come once is


https://dl.doubtnut.com/l/_iWJmv5p2fdSh
https://dl.doubtnut.com/l/_JfkHFkdTmBE8
https://dl.doubtnut.com/l/_vGHfP1vMOoCq

two tosses.

o View Text Solution

5. | toss three coins together. The possible
outocmes are no heads, 1 head 2 head and 3
heads. So, | say that prbability of no heads is

T What is wrong with this conclusion?

° Watch Video Solution

Proficiency Exercise Short Answer Questions |



https://dl.doubtnut.com/l/_vGHfP1vMOoCq
https://dl.doubtnut.com/l/_mTPcZDCOAkFK
https://dl.doubtnut.com/l/_cHOO6hdapvfJ

1. A bag contains 6 white balls numbered 1to 6
and 4 red balls numbered 7 to 10. Find the
probability of getting a:

(a) red ball with even number on it.

(b) an odd number ball.

o View Text Solution

2. A card is drawn at random from a well
shuffled pack of 52 playing cards. Find the

probability of getting a red face card.

| €8 |


https://dl.doubtnut.com/l/_cHOO6hdapvfJ
https://dl.doubtnut.com/l/_4BR7oXfYCz2H

L Watch Video Solution J

3. What is the probability of getting a king
when a card is drawn at random from a well-

shuffled deck of 52 cards?

o Watch Video Solution

4. A die is thrown once. What is the probability

of getting an even number?

° Watch Video Solution



https://dl.doubtnut.com/l/_4BR7oXfYCz2H
https://dl.doubtnut.com/l/_vtE9L6lmfO21
https://dl.doubtnut.com/l/_9HfQgIsPpfGH

5. Two coins are tossed simultaneously. What

is the probability of getting at least one head?

° Watch Video Solution

6. What is the probability of getting atmost
one taill when two coins are tossed

simultaneously?

° Watch Video Solution



https://dl.doubtnut.com/l/_jXBqgrJMULlS
https://dl.doubtnut.com/l/_l9zLPe6UXWSK

7. A letter of English alphabet is chosen at
random. Determine the probability that the

chosen letter is a consonant.

o Watch Video Solution

8. If P(E) = 0.75, what is the probability of

'not E'?

o Watch Video Solution



https://dl.doubtnut.com/l/_K6r0weHzFet3
https://dl.doubtnut.com/l/_ZWownN8GF8Sk

9. A bag contains 8 red pencils and 5 black
pencils. What is the probability of getting a
yellow pencil when one pencil is drawn at

random?

° Watch Video Solution

10. If probability of success is 63 %, what is

the probability of failure?

o Watch Video Solution



https://dl.doubtnut.com/l/_QSEIw3HSalqY
https://dl.doubtnut.com/l/_SJhwug8LGtJ9
https://dl.doubtnut.com/l/_23wu0DNOPJmE

11. There are 30 cards, of same size, in a bag on
which numbers 1 to 30 are written. One card is
taken out of the bag at random. Find the
probability that the number on the selected

card is not divisible by 3.

o Watch Video Solution

12. In a simultaneous throw of a pair of

dice,find the probability of getting.a doublet.

o Watch Video Solution



https://dl.doubtnut.com/l/_23wu0DNOPJmE
https://dl.doubtnut.com/l/_5CZaiFma5OUs

13. In a simultaneous throw of a pair of dice,
find the probability of getting:

a doublet of even numbers.

o Watch Video Solution

14. In a simultaneous throw of a pair of dice,
find the probability of getting:
an even number on one and a multiple of 3 on

the other.

° Watch Video Solution



https://dl.doubtnut.com/l/_GEmDvNC8uFfL
https://dl.doubtnut.com/l/_MuJ9BRhjLqyz

15. In a simultaneous throw of a pair of dice,
find the probability of getting:
neither 9 nor 11 as the sum of the numbers on

the faces.

o Watch Video Solution

16. In a simultaneous throw of a pair of dice,
find the probability of getting:

a sum less than 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_MuJ9BRhjLqyz
https://dl.doubtnut.com/l/_pkPZgntMcFuP
https://dl.doubtnut.com/l/_lLdmrlKOVqZw

17. One card is drawn at from a pack of 52
cards. Find the probability that the card drawn
Is:

red and a queen.

o Watch Video Solution

18. One card is drawn at from a pack of 52

cards. Find the probability that the card drawn


https://dl.doubtnut.com/l/_lLdmrlKOVqZw
https://dl.doubtnut.com/l/_SmM1DkL2N5Hm
https://dl.doubtnut.com/l/_yv7k1FPtKDGq

is:

either red or a queen.

° Watch Video Solution

19. A number is selected at random from first
50 natural numbers. Find the probability that

it is a multiple of 3 and 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_yv7k1FPtKDGq
https://dl.doubtnut.com/l/_hJP5zTiwYHlt

20. Two different dice are rolled
simultaneously. Find the probability that the

sum of the numbers on the two dice is 10.

o Watch Video Solution

21. Two different dice are tossed together. Find
the probability that (i) the number on each die
is even, (ii) the sum of the numbers appearing

on the two dice is 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_4lfoljPxku8k
https://dl.doubtnut.com/l/_4ovNsCNK2oe5

Proficiency Exercise Short Answer Questions li

1. Two dice are thrown at the same time. Find
the probability of getting
(i) Same number on both dice.

(ii) different number of both dice.

° Watch Video Solution

2. Two dice are thrown simultaneously. Find

the probability of getting the sum


https://dl.doubtnut.com/l/_4ovNsCNK2oe5
https://dl.doubtnut.com/l/_yEKKY7ZQBOK0
https://dl.doubtnut.com/l/_TcQD5LtaVEAx

(1) 9. (ii) 1. (iii)) a prime number.

o Watch Video Solution

3. A coin is tossed three times. Find the
probability of getting:
(i) all tails. (ii) at least two tails. (iii) atmost two

tails.

° Watch Video Solution



https://dl.doubtnut.com/l/_TcQD5LtaVEAx
https://dl.doubtnut.com/l/_5fYYqzcGL8nl

4. A coin is tossed 2 times. List the possible
outcomes. Find the probability of getting:

(i) at least one head. (ii) atmost one head.

o Watch Video Solution

5. Two dice are thrown at the same time.
Determine the probability that the difference
of the numbers on the two dice is :

(1) O. (i) 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_vNZR3nxwB52Y
https://dl.doubtnut.com/l/_h7snNly4k295

6. Two dice are thrown together and the
product of numbers appearing on them is
noted. Find the probability that the product is

less than 12.

o Watch Video Solution

7. A die its six faces marked 0,1,1,1,6,6. Two such
dice are thrown together and the total is

recorded.


https://dl.doubtnut.com/l/_h7snNly4k295
https://dl.doubtnut.com/l/_1yNCglJ0KlzE
https://dl.doubtnut.com/l/_XykRJlDg6wsc

(1) How many different scores are responsible

(i) What is the probability

° Watch Video Solution

8. A bag constains white, black and red ball
only. A ball is draw at random form the bage. If
the probability of getting a white balls is 1—30
and that of a black ball is % then find the
probability of getting a red ball. If the bag

contains 20 black balls, find the total number

of balls in the bag.

| e |


https://dl.doubtnut.com/l/_XykRJlDg6wsc
https://dl.doubtnut.com/l/_i74Fp26Jx1qI

& Watch Video Solution I

9. A bag contains 7 green, 10 blue and 5 red
balls. A ball is drawn at random. Find the
probability of this ball being a:

(i) blue ball.

(i) red ball or a green ball.

(i) not a green ball.

o Watch Video Solution



https://dl.doubtnut.com/l/_i74Fp26Jx1qI
https://dl.doubtnut.com/l/_flNXR1afz5U4

10. A bag contains 24 balls of which x are red,
2x are white and 3x are blue. A ball is selected
at random. What is the probability that it is:

(i) not white? (ii) blue?

o Watch Video Solution

M. A die is thrown twice. What is the
probability that:
(i) 3 will not come up either time?

(i) 3 will come up at least once?

| & I


https://dl.doubtnut.com/l/_gN6yguzdBQBh
https://dl.doubtnut.com/l/_omcrx4rc9kkR

| ¥ Watch Video Solution |

12. A bag contains 8 red, 7 orange and 9 green
balls. A ball is drawn at random from the bag.
Find the probability that the drawn ball is :

(i) orange or green. (ii) not orange. (iii) neither

green nor red.

o Watch Video Solution

13. A card is drawn at random from a pack of

52 playing cards. Find the probability that the


https://dl.doubtnut.com/l/_omcrx4rc9kkR
https://dl.doubtnut.com/l/_DF2HcNPyZkiv
https://dl.doubtnut.com/l/_9Gy644FDoCmF

card drawn is neither an ace nor a jack.

o Watch Video Solution

14. A card is drawn at random from a pack of
52 playing cards. Find the probability that the

card drawn is neither a black card nor a king.

o Watch Video Solution

15. The king, queen and jack of diamond are

removed from a deck of 52 playing cards and


https://dl.doubtnut.com/l/_9Gy644FDoCmF
https://dl.doubtnut.com/l/_uttSKe4tVyKO
https://dl.doubtnut.com/l/_TSKbp0kSHxkk

then well shuffled. Now one card is drawn at
random from the remaining cards. Determine
the probability that the card is:

(1) a jack. (ii) a heart. (iii) a red queen.

o Watch Video Solution

16. The king, queen and jack of diamond are
removed from a deck of 52 playing cards and
then well shuffled. Now one card is drawn at

random from the remaining cards. What is the


https://dl.doubtnut.com/l/_TSKbp0kSHxkk
https://dl.doubtnut.com/l/_6JJJJzS54vwn

probability that the card is:

(i) 10 of heart? (ii) a diamond? (iii) a face card?

° Watch Video Solution

17. All the jacks, queens and kings are removed
from a deck of 52 playing cards and then well
shuffled. Then one card is drawn at random. If
an ace is given a value |, find the probability
that the card has a value:

(1) 5. (ii) less than 5. (iii) greater than 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_6JJJJzS54vwn
https://dl.doubtnut.com/l/_Z4J24zYSgWfn

18. Cards bearing numbers 1, 3, 5,.....,.35 are kept
in a bag. A card is drawn at random from the
bag. Find the probability of getting a card
bearing (i) a prime number less than 15. (ii) a

number divisible by 3 and 5.

o Watch Video Solution

19. A bag contains cards which are numbered
from 2 to 90. A card is drawn at random from

the bag. Find the probability that it bears (i) a


https://dl.doubtnut.com/l/_Z4J24zYSgWfn
https://dl.doubtnut.com/l/_kPNcqGtCk02m
https://dl.doubtnut.com/l/_g5y4xZl6j2VK

two digit number (ii) a number which is a

perfect square

° Watch Video Solution

20. An integer is chosen between 0 and 100.
What is the probability that it is:

(1) divisible by 97 (ii) not divisible by 97

° Watch Video Solution



https://dl.doubtnut.com/l/_g5y4xZl6j2VK
https://dl.doubtnut.com/l/_e2Jt634aH97r

21. A lot consists of 48 mobile phones of which
42 are good, 3 have only minor defected and 3
have major defects. Varnika will but a phone if
its is good but the trader will only buy a
mobile, if it has no major defect. One phone is
selected at random from the lot. What is the
probability that t is

(i) accetable to Varnika?

(i) acceptable to the trader.

o Watch Video Solution



https://dl.doubtnut.com/l/_AA1LfGHnImNn
https://dl.doubtnut.com/l/_FudYeiaAYCKg

22. A carton of 24 bulbs contain 6 defactive
bulbs. One but is drawn at random. What is
the probability that the bulbs is not defactive?
If the bulb selected is defective nad it is not
replaced and a second bulb ius selected at
random from the rest, what is the probability

that the second bulb is defactive?

° Watch Video Solution

23. A child's game has 8 triangle of which 3 are

blue and rest are red, and 10 square of which 6


https://dl.doubtnut.com/l/_FudYeiaAYCKg
https://dl.doubtnut.com/l/_CrKOmp1gmssL

are blue and rest are red. One piece is lost at
random. Find the probability that it is a

(1) trinagle (ii) square

(iii) square of blue colour

(iv) triangle of red colour

o Watch Video Solution

24. Box A contains 25 slips of which 19 are
marked 1 and other are marked 5 each. Box B
contains 50 slips of which 45 are marked 1

each and other are market 13 each. Slips of


https://dl.doubtnut.com/l/_CrKOmp1gmssL
https://dl.doubtnut.com/l/_q3hGIx96tdaZ

both boxes are poured into a third box and
resuffled. A slip is drawn at random. What is

the probability that it is marked other than 1?7

o Watch Video Solution

25. A lot of 60 bulbs contain 12 defective ones.
One bulb is drawn at random from the lot.
What is the probability that this bulb is
defective? Suppose the bulb drawn in first
attempt is defective and is not replaced. Now,

one bulb is drawn at random from the rest.


https://dl.doubtnut.com/l/_q3hGIx96tdaZ
https://dl.doubtnut.com/l/_zJQdW6anUL2N

What is the probability that this bulb is not

defective?

° Watch Video Solution

26. A bag contains tickets numbered 11, 12, 13,
...... , 30. A ticket is taken out from the bag at
random. Find the probability that the number
on the drawn ticket (i) is a multiple of 7 (ii) is

greater than 15 and a multiple of 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_zJQdW6anUL2N
https://dl.doubtnut.com/l/_zZdNPudRfylQ
https://dl.doubtnut.com/l/_MCWMelzzxAwg

27. Cards marked with numbers 13, 14, 15, ....., 16
are placed in a box and mixed thoroughly. One
card is drawn at random from the box. Find
the probability that number on the card
drawn is (a) divisible by 5 (b) a number is a

perfect square

o Watch Video Solution

28. A bag contains 18 balls out of which x balls
are red.

(1) If one ball is drawn at random from the bag


https://dl.doubtnut.com/l/_MCWMelzzxAwg
https://dl.doubtnut.com/l/_n6XUeC0VfGqL

what is the probability that it is not red?

(ii) If two more red balls are put in the bag, the
probability of drawing a red ball will be %
times the probability of drawing a red ball in

the first case. Find the value of x.

o Watch Video Solution

29. Suppose you drop a die at random on the
rectangular region shown in Fig. What is the

probability that it will land inside the circle


https://dl.doubtnut.com/l/_n6XUeC0VfGqL
https://dl.doubtnut.com/l/_in000d2oyLR6

with diameter 2m? (Take m# = —)

7

6m

————

4 m

o Watch Video Solution

30. Ranjani and Kanika are friends. What is the
probability that both will have:
(1) different birthdays?

(i) the same birthday? (ignoring a leap year)

o Watch Video Solution



https://dl.doubtnut.com/l/_in000d2oyLR6
https://dl.doubtnut.com/l/_zZTw4JDxyXpJ

Proficiency Exercise Long Answer Questions

1. A game of chance consists of spinning an
arrow which is equally likely to come to rest
pointing to one of the numbers 1, 2, 3....., 12 as
shown in the Fig. What is the probability that
it will point to:

(i) 67 (i) an even number? (iii) a prime


https://dl.doubtnut.com/l/_zZTw4JDxyXpJ
https://dl.doubtnut.com/l/_MrPyUshwxcsR

number? (iv) a multiple of 4?

o Watch Video Solution

2. The probability of selecting a green marble

at random from a jar that contains only green,


https://dl.doubtnut.com/l/_MrPyUshwxcsR
https://dl.doubtnut.com/l/_aNIlfVMEkkM7

white and vyellow marbles is 1/4 . The
probability of selecting a white marble at
random from the same jar is 1/3 . If this jar
contains 10 yellow marbles. What is the total

number of marbles in the jar?

o Watch Video Solution

3.In a bag contains 20 cards numbered from 1
to 20. A card is drawn at random from the box.

Find the probability that the number on the


https://dl.doubtnut.com/l/_aNIlfVMEkkM7
https://dl.doubtnut.com/l/_IWmyis9LqvXT

drawn card is (i) divisibly by 2 or 3 (ii) a prime

number

o Watch Video Solution

4. In a game, the entry fee is of 5. The game
consists of a tossing a coin 3 times. If one or
two heads show. Sweta gets her entry fee back.
If she throw 3 heads, she receives double the
entry fees. Otherwise, she will lose. For tossing
a coint three times, Find the probability that

she


https://dl.doubtnut.com/l/_IWmyis9LqvXT
https://dl.doubtnut.com/l/_Q1dlXgGxVIfI

() Loses the entry fee.
(i) gets double entry fee.

(i) just gets her entry fee.

° Watch Video Solution

5. A jar contains 54 marbles each of which is
blue, green or white. The probability of
selecting a blue marble at random from the jar
is 3 and the probability of selecting a green
.4 :
marble at random is 9 How many white

marbles does the jar contain?

| e |


https://dl.doubtnut.com/l/_Q1dlXgGxVIfI
https://dl.doubtnut.com/l/_A3VE0toKLWs5

& Wwatch Video Solution I

6. Red queens and black jacks are removed
from a pack of 52 playing cards. A card is
drawn at random from the remaining cards,
after reshuffling them. Find the probability
that the card drawn is (i) a king (ii) of red

colour (iii) a face card (iv) a queen

° Watch Video Solution



https://dl.doubtnut.com/l/_A3VE0toKLWs5
https://dl.doubtnut.com/l/_JuR9fJhmX8kb

7. Five cards- the ten, jack, queen, king and ace
of diamonds, are well shuffled with their faces
downwards. One card is then picked up at
random.

(a) What is the probability that the drawn card
is the queen?

(b) If the queen is drawn and put aside and a
second card is drawn, find the probability that

the second card is (i) an ace (ii) a queen.

o Watch Video Solution



https://dl.doubtnut.com/l/_o6TDkeDmeSg2
https://dl.doubtnut.com/l/_eiC5YhQBH6cM

8. Cards numbered 1 to 30 are put in a bag. A
card is drawn at random from this bag. Find
the probability that the number on the drawn
card is:

(1) not divisible by 3.

(i) a prime number greater than 7.

(i) not a perfect square number.

o Watch Video Solution

9. A dice is rolled twice. Find the probability

that:


https://dl.doubtnut.com/l/_eiC5YhQBH6cM
https://dl.doubtnut.com/l/_vYt6GWxgAQpQ

(1) 6 will not come up either time.

(i1) 6 will come up exactly one time.

o Watch Video Solution

10. A game of chance consists of spinning an
arrow on a circular board, divided into 8 equal
parts, which comes to rest pointing at one of
the numbers 1,2, 3 (Fig.), which are equally
likely What is the probability that the atrow

outcomes Wi at (i) an odd number (ii) a


https://dl.doubtnut.com/l/_vYt6GWxgAQpQ
https://dl.doubtnut.com/l/_vdRQupJ9yzLy

number greater than 3 (iii) a number less than

9

° Watch Video Solution

Self Assessment Test

1. What is the probability of getting a sum

greater than 10 when two dice are rolled

together?

O Watch Video Solution



https://dl.doubtnut.com/l/_vdRQupJ9yzLy
https://dl.doubtnut.com/l/_h4QoHzvAj8mB
https://dl.doubtnut.com/l/_N2RM2imgKhAC

2. What is the probability of raining on a clear

sky day?

o Watch Video Solution

3. What is the probability of getting an even

number less than 4 when a die is thrown?

o Watch Video Solution



https://dl.doubtnut.com/l/_N2RM2imgKhAC
https://dl.doubtnut.com/l/_adjPlac473ic

4. A card is drawn from a deck of 52 cards. The
event E is that it is not a queen of black colour.

What is the number of favourable outcomes?

o Watch Video Solution

5. If you toss a coin 6 times it comes down
head on each occasion Can you say that the

probability of getting a head is 1? Give reasons

o Watch Video Solution



https://dl.doubtnut.com/l/_E7wIeHvsUFzj
https://dl.doubtnut.com/l/_aUcHZT1CVtNa
https://dl.doubtnut.com/l/_PtLiV3XHfeeh

6. A letter is chosen at random from the
letters of the word ASSASSINATION. Find the
probability that the chosen is a(i) vowel (ii)

consonant.

o Watch Video Solution

7. Two unbiased coins are tossed
simultaneously. Find the probability of getting
two head (ii) one head one tail (iv) at least one

head at most one head (vi) no head

o Watch Video Solution



https://dl.doubtnut.com/l/_PtLiV3XHfeeh
https://dl.doubtnut.com/l/_3frLNw9b3Rjq

8. Five cardsthe ten, jack, queen, king and ace
of diamonds, are well shuffled with their face
downwards. One card is then picked up at
random. (i) What is the probability that the
card is the queen? (ii) If the queen is drawn

and put aside, what

o Watch Video Solution



https://dl.doubtnut.com/l/_3frLNw9b3Rjq
https://dl.doubtnut.com/l/_mXWM3Rp9YPSO

9. A jar contains 54 marbles each of which is
blue, green or white. The probability of
selecting a blue marble at random from the jar

is 3 and the probability of selecting a green

.4 :
marble at random is —. How many white

9

marbles does the jar contain?

o Watch Video Solution

10. Two dice, one blue and one grey, are

thrown at the same time. Write down all the


https://dl.doubtnut.com/l/_HE4nmhX7hwWS
https://dl.doubtnut.com/l/_THpWSzGPOUfm

possible outcomes. What is the probability
that the sum of the two numbers appearing
on the top of the dice is (ii) 13? (iii) less than

or equal to 127

° Watch Video Solution

1. A box contains 90 discs which are
numbered from 1 to 90. If one discs is drawn at
random from the box, find the probability that
it bears (i) a two digit number (ii) a perfect

square number (iii) a number divisible by 5.

| e |


https://dl.doubtnut.com/l/_THpWSzGPOUfm
https://dl.doubtnut.com/l/_g0iPlTNmaMBw

& Watch Video Solution



https://dl.doubtnut.com/l/_g0iPlTNmaMBw

